Méx16 - Tks

M8x40 - 1ks P8 - Tks PRI4- Ths

M10x25 - 2ks @ SM8 - Tks P14 - 4ks

MI0x1,25x25 - 4ks

M10x110 - 4ks Mé - 7ks P6.6 - Zks PP6 - Tks

M14x50 - 4ks “‘ M10 - éks P11 - 8ks PP10 - 10ks

M12x70 - 2ks (A) .@ M12 - 2ks (A, I) @ PP12 - 2ks (A, I] BP360 - 4ks
M12x90 - 2ks (1) . M14 - 4ks PP12 - 4ks (C)

M12x19 - 4ks (C) PP14 - 4ks

DETAIL SANTA FE

|

DETAIL SORENTO

M14x50

MI10x110
M10x1,25%25

AIC 25001

M12x70

HYUNDAI SANTA FE, KIA SORENTO
Kod: HOZ15(A.L.C) 22.2.2013




